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Answer: 

(a) When H2O(l) is added the reaction proceeds in the forward direction, and more H2 will be produced at equilibrium.

(b) When a catalyst is added, the reaction will proceed faster and more H2 will be produced at equilibrium.

(c) Greater volume means that the reaction will move in a direction of greater gaseous molecules ( will move to the right and more H2 will be produced at equilibrium.
(d) When more CO is added, the reaction will move in a direction to counteract that addition and it move to the left towards reactants ( less H2 will be produced at equilibrium.

(e) An inert gas has no effect here on the concentrations.

(f) Since the reaction in endothermic, raising the temperature will favor the forward direction and the reaction will move to the right ( more H2 will be produced at equilibrium.

(g) If C is removed, the reaction will move in the reverse direction and less H2 will be produced at equilibrium.

